
6' Madison Collection Backless Bench With Armrests, Ipe Wood & Powder-Coated 
Steel

Model # 72-I6 Instruction Sheet

www.belson.com 1Page of 76/24/2019

627 Amersale Drive 
Naperville, IL  60563 

Phone: (800) 323-5664 
sales@belson.com

https://www.belson.com/Madison-Collection-Backless-Wood-Park-Bench
https://www.belson.com/Madison-Collection-Backless-Wood-Park-Bench
https://www.belson.com


www.belson.com Page 2 of 76/24/2019

● O W N E R S  A N D  IN S TA LLE R S  P LE A S E  N O TE  
TH E S E  S A FE TY  W A R N IN G S  A N D  M A K E  U S E  O F  
TH IS  C H E C K LIS T  O N  A  R E G U LA R  B A S IS .

● FO LLO W  IN S TA LLA T IO N  IN S TR U C TIO N S  W H E N
E R E C TIN G  E Q U IP M E N T.

● G R O U N D  S U R FA C E S  A R O U N D  E Q U IP M E N T
S H O U LD  B E  R E S TO R E D  A S  N E E D E D . C O N C R E TE
FO O TIN G S  S H O U LD  N E V E R  B E  E X P O S E D . 
S U R FA C E  D E P TH  S H O U LD  C O M P LY  W ITH  A S TM  
A N D  C P S C  S P E C IF IC A T IO N S .

● C H E C K  FO R  A N D  R E P A IR  D A M A G E  C A U S E D  B Y
W E A R  O R  V A N D A LIS M , A  M A JO R  FA C TO R  IN  
IN JU R Y  C A U S IN G  S ITU A TIO N S .

● A LL  P R O TR U D IN G  B O LTS  S H O U LD  B E  C O V E R E D
O R  C U T O FF  A N D  F IN IS H E D  S M O O TH . S H A R P
E D G E S  O N  P IP E S  S H O U LD  B E  C A P P E D  O R
R E M O V E D . C H E C K  FO R  B E N T, B R O K E N , O R
S E V E R E LY  W O R N  P IP E , A N D  R E P LA C E .

● A LL  E Q U IP M E N T S H O U LD  B E  FR E E  O F  R U S T 
A N D  R E P A IN TE D  W H E N E V E R  N E C E S S A R Y  TO  
D E TE R  R U S TIN G .

● W E  P R O V ID E  O U R  C U S TO M E R S  W ITH  LA Y O U T
S H E E TS  A N D  IN S TA LLA T IO N  IN S TR U C TIO N S .
P LE A S E  K E E P  O N  F ILE  TH E  S P E C IF IC A T IO N S  
S H E E T TH A T C O N TA IN S  TH E  L IS T IN G  O F  E V E R Y  
P A R T U S E D .

● N E V E R  A D D  C O M P O N E N TS  N O T IN TE N D E D  FO R
U S E  W ITH  TH IS  P R O D U C T.

SAFETY WARNINGS & EQUIPMENT INSPECTION

● R E G U LA R  M A IN TE N A N C E  IS  N E C E S S A R Y  IN  
TH IS  A N D  A LL P A R K  A N D  R E C R E A TIO N A L 
E Q U IP M E N T TO  IN S U R E  TH E  S A FE TY  O F  TH E  
U S E R .

● N O TE : P R O P E R  M A IN TE N A N C E  O F  
E Q U IP M E N T R E Q U IR E S  R E G U LA R  
T IG H TE N IN G  O F  A LL B O LTS , N U TS , A N D  
S E TS C R E W S .

● N O TE : R E G U LA R  C H E C K IN G  O F  A LL P A R TS ,
C A S TIN G S , E TC . S H O U LD  B E  M A D E . IF  A  
P A R T IS  B R O K E N  O R  W O R N , IT  S H O U D  B E  
R E P LA C E D  IM M E D IA TE LY .

● C H E C K  TO  B E  S U R E  A LL F ITT IN G S  A R E  
T IG H T A N D  TH A T B A R S  A N D  P IP E S  D O  N O T 
M O V E .

● R E P LA C E  A LL W O R N  S -H O O K S . S -H O O K S  
M U S T B E  C O M P LE TE LY  C LO S E D . FA ILU R E  TO  
C LO S E  S -H O O K S  C A N  R E S U LT  IN  S E R IO U S  
IN JU R Y  TO  TH E  U S E R . N E V E R  R E U S E  S -
H O O K S .

● TE S T  FO R  FR E E  M O V E M E N T O F  S W IN G  
H A N G E R  A N D  O TH E R  M O V IN G  A TTA C H E D  
P A R TS .

● C H E C K  FO R  W O R N  C H A IN S  A N D  R E P LA C E  
TH E M .

● A  S O FT  R E S IL IE N T  S U R FA C E  S H O U LD  B E  
P LA C E D  U N D E R  A LL S W IN G S  E X TE N D IN G  A T  
LE A S T TW IC E  TH E  H E IG H T O F  TH E  TO P  R A IL  
B O TH  FR O N T A N D  B A C K .



5/16" Flat Washer

5/16" x 1" Lag Bolt

www.belson.com Page 3 of 76/24/2019

BEFORE ASSEMBLY, PLEASE MAKE SURE ALL FASTENERS ARE INCLUDED.



Seats: Seat is made from 1-1/4” x 6" Ipe wood. Reinforced with 7 gauge thick support ribs. 

Coating:   Steel is sandblasted to near white condition. Coated with zinc rich epoxy primer and top coated 
with electrostatic powder coat, oven cured. Ipe wood is sealed on each end to prevent splitting and stained 
with a wood finish.

Hardware:  Hardware shall be stainless steel.

Dimensions: 6’ portable/surface mount bench without back and armrests.  Seats are 23-9/16” wide x 72” 
long.  Seat height is 17-13/16” from the ground to the top of the seat. The overall dimensions are 73-3/4” x 
23-9/16” x17-13/16”

Recommended Surface Mount Hardware:  3/8" x 3-1/2" Concrete Expansion Anchor Bolts (Not Included)

IPE Wood Care and Maintenance to be applied twice a year.
Step 1.) Wash boards with a deck cleaner or IPE cleaner.
Step 2.) After boards are dry, Lightly sand and dust off boards. Before applying stain be sure wood is dry 
and free of sawdust or dirt.
Step 3.) Apply a new coat of stain per manufacturer's recommendations. We recommend using Penofin© 
Hardwood Formula.

www.belson.com Page 4 of 76/24/2019

PRODUCT SPECIFICATIONS

72-I6
MADISON BENCH WITHOUT BACK AND ARMREST

Legs are 
fabricated from 3/4” steel plate with 7 gauge attachement plates.  Mounting plates shall be made from 7 
gauge steel.  All electrically MIG welded.



www.belson.com Page 5 of 76/24/2019

COMPONENTS

ITEM NO. PartNo DESCRIPTION Qty.

1 01-01-0642 madison w/out back endframe wood-welded 2

2 01-01-0644 5/4" x 6" x 6' long ipe bench plank 4

3 01-01-0619 madison w/out back wood attachment plate 1

4 33-02-0007 5/16" SS Washer 12

5 33-05-0067 5/16" x 1" lag bolt, SS 12

3

2

4

1

5



www.belson.com Page 6 of 76/24/2019

STEP 1

WARNING: Overtightening of lag bolts can cause damage to lumber.

Attach the Ipe Wood Planks to the Madison Endframes and the Attachment Plate using the specified 
hardware.

3

2

4

1

5



 17 13/16" 

 23 9/16" 

 72" 

 73 3/4" 

www.belson.com Page 7 of 76/24/2019

OVERALL DIMENSIONS




